
AP Calculus AB Summer Assignment            Name: ________________________ 

NO CALCULATORS 

Part 1: Simplify 

1. Simplify:  
𝑥3−9𝑥

𝑥2−7𝑥+12
       2. Simplify: 

√𝑥−2+
5

√𝑥−2

𝑥−2
   

 

 

 

 

3. Simplify: 𝑙𝑜𝑔2 5 + 𝑙𝑜𝑔2(𝑥2 − 1) − 𝑙𝑜𝑔2(𝑥 − 1)   4. Simplify: 2 𝑙𝑜𝑔4 9 − 𝑙𝑜𝑔2 3 

 

 

 

 

 

Part 2: Solve 

1. Solve: 4𝑥2 − 21𝑥 − 18 = 0     2. 

 

 

 

 

 

 

 

 

3.        4.   

 

 

  

Find the equation of the line that passes 

through the point (2, 4) and is parallel to the 

line 2x + 3y – 8 = 0 

Find the equation of the line that is 

perpendicular to the line 2x + 3y – 8 = 0 at 

the point (1, 2). 

The line with a slope of 5 passes through 

the point (-1, 3) and intersects the x-axis at 

what point? 



Part 3: Unit Circle  

1. Evaluate:        2. Evaluate: 

a) 𝑐𝑜𝑠(0)        a) 𝑎𝑟𝑐𝑐𝑜𝑠 (
√3

2
)   

b) 𝑡𝑎𝑛 (
𝜋

2
)        b) 𝑎𝑟𝑐𝑠𝑖𝑛 (−

1

2
) 

 

Part 4: Solve Again 

1. Solve: 2 𝑠𝑖𝑛2 𝜃 = 1 − 𝑠𝑖𝑛 𝜃      2. 2𝑥 + 1 =
5

𝑥+2
 

 

 

 

 

 

3. 
𝑥+1

𝑥
−

𝑥

𝑥+1
= 0       4. 

2𝑥

4𝜋
+

1−𝑥

2
= 0 

 

 

Part 5: Miscellaneous 

1. Find  
𝑓(𝑥+ℎ)−𝑓(𝑥)

ℎ
  for 𝑓(𝑥) = 8𝑥2 − 1.     2. Evaluate 𝑙𝑖𝑚

𝑥→2

(𝑥2−4)

𝑥−2
 

 

 

 

 

 

3. What is the domain for the function 𝑓(𝑥) = 𝑙𝑛(2𝑥 − 12)     4. Complete the square: 𝑥2 + 4𝑥 + 3 

 

 


